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Please check whether you have got the right question paper..

NOTE:

P B B e

Q 1) (A) Fill in the blanks with proper words: (Ans‘wer any 10)

All questions are compulsory.

Q.1 and Q.6 carry 20 marks each.
Q.2,Q.3,Q.4 and Q.5 carry 15 marks each.
Use of simple calculator is allowed.

[ Marks:100]

uqu

I. In dissolution of partnership firm all assets are transferrcd to Reallzaﬁon

Alc side.

On Amalgamation
Partnership firm has

assets

Trade Mark is a _ assets.
Return Inward is deducted from

SO RNAL AW

=

settlement.
11.
method.

account.

(B). Match the following: (Answer any 10)

Payment made in advance is shown on
Goodwill written off in the books of new firm is debited to
. The balance due to retiring partner is transferred to his

Debit balance on Realisation A/c represents

are transferred to partners capital Accounts

liability.
If asset is depreciated Realisation A/c'is

e

side of balance sheet.
Account.

. On dissolution of firm payment of unrecorded liability is debited to

(10)

account until final

After all external liabilities are paid the balance cash is pald to the partners as per

Column ‘A’

Column ‘B’

1) Dues to employees

a)12%p .a

2) Fluctuating Capital Method

b) Distributed among the partners

3) Excess capital method

¢) Closing stock

4) Amalgamation of firms

d) Liability

5) Purchase Consideration

e) created after payment of external liability

6) Loose tools

H6%pa

7) Preferential liability

g) Income tax dues

8) Interest.on Partner’s Loan

h) Not a fixed asset

9) Reserve for contingent Liabilities

i) Amount payable by purchasing company

10) Income received in advance

J) Purchase Consideration

11) Unsold stock at the e€nd of the year

k) Highest Relative Capital method.

12)General Reserve

1) Separate current A/c is not opened

m)Preferential Liability
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Q.2 The Following is the Trial balance of a firm as on 31% March 2017. (15)
Particulars Bxertr):gun t Particulars g;d(;:m )
Drawings: Capital Accounts:

Ajay 12,000 | Ajay 30,000
Vijay 12,000 | Vijay 30,000
Sanjay 12,000 | Sanjay 30,000
Purchases 1,56,000 | Sales 2.,94,000
Return inward 2,400 | Return Outward 2,000
Stock 24,000 | RDD - 8,800
Salary 27,000 | Bank Loan 20,000,
Office Expenses 16,500 | Creditors 76,500
Bad Debts 2,100 | Bills Payable 8,700
Carriage Inward 4,500
Carriage Outward 6,750
Debtors 1,00,000
Bills Receivables 3,250
Bank 8,000
Cash 2,500
Investments 25,000
Premises 50,000
Machinery 36,000

5,00,000 5,00,000

On 1¥' October 2016, Ajay Retired and the following adjustments were agreed upon:

&
2.

n

Goodwill of Rs:90,000 was brought into the books of accounts.

Furniture worth Rs. 20,000 was purchased on 30" June 2016, but the invoice was not

recorded in the books.

Balance in Ajay’s Accounts after making all adjustments was to be transferred to his

loan account carrying interest @16%.

Closing stock was valued @42,000.
Depreciate machinery by 10%, Premises by 5% and Furniture by 5% p.a.
Provide interest on capital @10%.

Prepare Trading and Profit & loss Account for the year ended 31 March 2017,

OR

c24ae0cenrabBB5Aeh876pARs904383



Q.2.

Q.P. Code: 23792 .

(15)

Krishna was carrying on- business as a wholesale business man. He closes his books of
accounts by 31% March every year. Arjun was his Manager on a monthly salary of Rs.2,000
till 30™ September 2016; and from 1* October 2016, it was agreed that he will be admitted 353

partner with 1/3 share in profit and loss without any salary.

The books of the firm yielded the following Trail Balance at the end of the year on 31%

March 2017.
-y Debit | Credit
(Amount) | (Amount)

Krishna’s Drawing and capital 20,0001 37,000

Purchase and Sales 2,10,000 | 3,30,000

Debtors and Creditors 15,000 8,700 |

Furniture and Fittings 9,000

Motor car 15,000

Stock (01-04-2016) 30,000

Bank 15,000. =

Cash - 900 |

Salaries 15,000

Advertising and Selling expenses _ 33,000 |

Professional Charges 2,400

Rent © 6,400 .

Prepaid Rent : 400 ~ 5 28

Bills Receivable and Bills Payab!e 8,900 | 5,300
i 3,81,000 | ~.3;81,000

The Following addmonal information i is available:
1. Purchases were Rs 1,00,000 upto, 30th September 2016.
2. Sales durmg the first six months ofthe year were Rs.1,10,000.
3. Stock on 30™ Septentber 2016, and 31 March 2017 was Rs.50,000 and Rs. 20,000

Respectively.

4. Furniture and Fittings are to be depreciated @10% and Motor Car @ 20%.

wh

Rent which was Rs.450 per month upto 30" November 2016, was increased to Rs.600
per month. From 1° December.ZDlG.

You are required to prepare Trading and Profit and Loss account in Columnar Form.
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Q3) (15)

P, Q and R are partners of M/s. Piku Stationers, sharing Profits and Losses in the ratio of
1:1:2.

On 30th June, 2017. They decided to dissolve their firm when their Balance sheet was as

under —
LIABILITIES Rs. ASSETS Rs.
Capital - P 2,40,000 | Goodwill 1,20,000
Q 1,60,000 | Building 2,40,000
R -3,00,000 | Plant 2,68,000
General Reserve 80,000 | Stock . 1,23,000
Loan From Q 40,000 | Debtors 1,80,000
Sundry Creditors 1,60,000 | Bills Receivable 37,000
| Bank 12,000
9,80,000 | 9,80,000

The realisation and expenses of realisation were as stated below:

Date “Realisation Exp'eﬁsés’ |
31 July 1,10,000 2,000
315 August . _ 3,40,000 \-=-'_] 0',000
30" September 3,50,000 5,000
315 October 1,62,000- 3,000

You are required to prepare statement to show the piec_cmeal distribution of cash available
under Highest Relative Capital Method. s

OR
Q3). (15)
The ﬁ'fm ;_"_of Py Ra Midas present you with the following Balance Sheet drawn as on 31°
March, 2017+«
Liabilities Rs. Asset Rs.
Sundry Creditors 74,000 | Cash in hand 6,000
Capital Accounts : Sundry Debtor 68,000
P s Lo SV T - 80,000 | Stock in Trade 78,000
B g | 60,000 | Machinery 1,02,000
M 54 000 | Current Accounts °
s R 8,000
M 6,000 14,000
2,68,000 2,68,000
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Partners shared profits and losses in the ratio of 4:3:3. Due to differences among the partners,
it was decided to wind up the firm, realize the assets and distribute cash among the partners at -
the end of each month.

i.  April 2017: Rs. 30,000 from Debtors and Rs. 40,000 by sale of stock. Expenses on'-:
Realisation Rs. 1,000. o)

ii. May 2017: Balances of debtors realized Rs.20,000. Balanc&: of stock fetched Rs "“’
48,000. :

iii.  June 2017: Part of Machinery was sold for Rs. 36,000. Expenses incidental to sale Rs
1,200.

iv.  July 2017: Part of Machinery valued in the books at Rs, 10,000 was taken by P,-in.

part discharge at an agreed value of Rs. 20,000. Balance of Machinery was sold for.-;-
Rs. 60,000 (net) '

Show how the amounts due to partners will be settled as per Highest Relative Capit’:ﬁé
Method.

Q 4). The Balance Sheet of M/s. M & N, and M/s. R & S as. on 31SI March, 2017 were as

follow:
LIABILITIES M&N | R&S ASSE__TS 1 M&N | R&S
Rss o = ORs; o Rs. Rs.
Capital : S 253 Land o &0 | = 736,000 47,400
M © 36,000 Machinery | 25,200 28,800
N 36,000 Furniture * |-~ 10,800 12,600
R £ - 36,000 | Debtors- | = 21,600 30,600
S & 36,000 | Stock 3% 28,800 32,400
Creditors 54,000 | - 36,000 | Cash 3,600 1,800
Loan 3 | 39,600 | Bank 7,200 5,400
Outstanding A 272000 ‘134007 =
Expenses e AEL S =
: 1,33,200 | 1 59 000 1,33,200 1,59,000

The two ﬁrms decided to amalgamate and form into M/s. MNRS with effect from 31
March, 2017, -

Partners would share profits and losses equally between themselves as they were doing
prior to amalgamation and they agreed to following revaluation of assets and liabilities:

M &N R&S

Land = 45,000 45,000
Machinery 30,000 32,000
Furniture 10,000 12,000

* | Debtors 21,000 30,000

- | Creditors 52,000 34,000
Loans - 38,000
Outstanding Expenses 7,200 11,400

In add itionﬁto the above it was decided;

c24AE0CCDFBEBE6 o8R8 76D ABS9043B3
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I. Goodwill of M & N and R & S were values at Rs. 35,000 and Rs. 20,000 respectively

and it should be written off in the new firm. =
2. That the reconstructed capitals of the partners would be RS 37,500 each. The

difference, if any should be transferred to Current Account.

You are required to show:-

i) The accounts in the books of M/s. M & N
i) The opening balance sheet of the new firm. ' (15)

OR
Q4) as

Following is the Balance Sheet of M/s Lalwani Bros. and M/s Motwani Bros. as on 315‘
March, 2017.

M/s. Lalwani Brothers
Balance Sheet - :
Liabilities Rs. Assets " Rs.

Sundry Creditors 50,000 | Cashin hand 12,000
Loan from Vijaya Bank 10,000 | Stock in Trade : 58,000
Capital : | Furniture and Fixtures 20,000
Anil | 1,00,000 [-Office Premises. 90,000
Sunil 50,000 | Debtors ; 30,000

2,10,000 ' 2,10,000

M/s. Motwani Brothers
Balance Sheet

Liabilities “Rs. : Assets Rs.
Sundry Creditors 60,000 | Cash in hand 16,000
Capital : _ -Stogk in Trade 44,000
Ajay ; 60,000 | Sundry Debtors 50,000
vijay 40,000 | Furniture and Fittings 10,000

5% National Savings 40,000
Certificate
1,60,000 1,60,000

They shared profits & losses in proportion to their capitals. They decided to amalgamate their
business with effect from 1** April, 2017, as per the following terms and conditions:

1. That the name of the new firm shall be VANEE TRADING CORPORATION.

2. That the Vijaya Bank Loan be repaid.

3. That the 5% National Saving Certificate not to be taken over by new firm to be
distributed between partners equally at Book Value.

4. That Goodwill of M/s Lalwani Bros. and M/s. Motwani Bros fixed at Rs. 21,000 and
Rs. 25,000 respectively.

5. That office premises are valued at Rs. 99,000.

6. That stock in trade of M/s Lalwani Bros. be reduced by 9,000 and that of
M/s. Motwani Bros. increased by Rs. 5,000

c24aE0cCDFREBESC3E876DAB800433
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7. That a reserve for Bad debts be created at the rate of 5% on debts of both the firms.

8. That the total capital of the “Vanee Trading Corporation” will be Rs. 1,80,000 and the
capital of each partner will be in his profit sharing ratio which will be as follows :
Anil 30%, Ajay 30%, Sunil 20%, Vijay 20%
The differances if any, should be transferred to current account.

9. Goodwill account in the new firm should be written off, :
You are required to close the books of M/s Lalwani Bros: and prepare balance shect @f
VANEE TRADING CORPORATION as on 1 April, 2017

Q5.

“

459

Veena and Neena are carrying on business in the name of Veena & co, sharmg profit in the

ratio of 2:3. On 31 March 2017 their Balance Sheet was:

Liabilities Amount | Assets Amount
Neena A/c 88,000 | Property 72,000
Veena A/c 60,000 | Stock 40,000 |
General Reserve 24,000 | Debtors 48,000
Loan- Neena 16,000 | Machinery - 60,000
Bank Overdraft 32,000 | Advances . 8,000
Creditors 20,000 | Cash/Bank © 12,000 |

On the same date Veena Pvt. Ltd-rWas incorp_ora{éd to t_ake oner the running business of
Veena & Co, on the following terms.

1. Goodwill of the firm is to be valued at 2 years purchase of average profits of past Five
years. The firm used to-transfer Rs.4,000 every year to General Reserves. The profit
after:above transfer were Rs. 12,800, Rs:14,000; Rs. 15,000, Rs.14200 and Rs. 15,400

2. Machinery is overvalued by Rs 6,000 and property is undervalued by Rs.8,000 other

assets and liabilities except Loan of Neena are taken over at book value,

3. The Company decided to allot

(a) 12% preference shares to that partners who has excess capital after all necessary
radjustments to the extent of such amount.

(b) Equity shares for the balance amount payable,

4. The face value of shares is Rs.10.

Show necessary Journal Entries in the books of both parties to the above agreement.

OR
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(15)

Ajit and Sujit were partners sharing profits and losses in the ratio of 2:1. Their Balance sheet
as on 31-03-2017 showed the following positions.

Liabilities Amount | Assets Amount 5
Capital Accounts: Freehold Premises 62,000 | >
Ajit 50,000 | Plant and Machinery - 18,000 :
Sujit 40,000 | Stock 32,000
Current Accounts: Book Debt 41,000
Ajit 26,000 | Bank PNB 45,000
Sujit 18,000
Ajit’s Loan Account 40,000
Accounts Payable 24,000 <
1.98,00 '

The partner’s wishing to dissolve the firm. Accepted the offer of Majesnc Ltd to acqu;re the
stock and fixed assets at an inclusive pche of Rs 1,40,000. :

T

The Purchase consideration was to be satlsﬁed'by—_-

1. A cash payment of Rs.35,000

2. By allotment to the partners 6,000, 6% preference shares of Rs.10 each valued at Rs.8
per share.

3. 57,000 ordinary shares of Rs. 1 each.
The book debts realized Rs.38,000 and Accounts payable were settled by Rs.22,000,

The partners agreed that the followmg should be the basis of distribution on
dissolution of partnership.’ :

(a) Ajit to be allotted preference shares in setﬂement of his loan, the remaining
preference shares being allotted equally to them.

(b) The ordinary shares to be allotted in the ratio of profit sharing.

(¢) The Balance to be paid in cash.

You are required to prepare:-
1. “Realisation Account -
2. Partners capital and Current Accounts separately
3. Majestic Ltd. Account
4. Cash Account.

Q.6. (a) What is-the Accounting Procedure for accounting of Amalgamation of Firm in

the books of Amalgamatmg firms? . 10)
(b) What are the Adjustments in final accounts of a firm? (10)
OR
Q6. Short Notes (Answer any Four) | (20)
a) Net Asset -Method of purchase b) Proportionate cap_ital Method

considetation. -

c) Death of Partner
¢) Fluctuating Capital

d) Interest on Partners Loan.
f) Accounting Procedure in the books of
purchasing company.

ok ok ok ok ok ok ok ok ok ok ok ok ok o ok o ok o ok ok K o
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CO143FR /C014303 / ADVERTISING I

Q. P. Code : 22287
(3 Hours) [ Total Marks : 100

N.B: 1. All questions are compulsory,
2. Figures to the right indicate full marks.

(A) Select the most appropriate answer {rom the options given below (Any ten) : 10
(I . isnotanelement of lntegrated Marketing Communication.
/(51) Tnternet (b)  Events & Sponsorship
(¢) Physical Distrilwilion (c) Sales Promotion
(2) _.._. advertising creates generic demand for products
_{a) Primary (by  Selective
(¢) Social (d)  Trade
(3) ___ s the oldest form of advertising agency
(a) Mwa agency (b) - Space broker
(¢) Creative boutique Ldy In-house agency
4) __ ____ department in an advertising agency co-ordinates the
adv crtmmg production process .
(a) Media by Traftic
(c) Client Service (d)  Accounts
(5) ____ isapersonin an adv ertising agency responsible for writing

headlines and slogans

(a) Visualiser (b)  Media Executive
_te7 Copywriter (d)  Account Executive
(6) . skillisrequired for people w orking in the creative departnent
ofan adverusma agerncy.
(a) Communication —b)  Visualising
(c) Marketing (d)  Organising
a advertising is deceptive
{a) Product (b)  Institutional
{erSurrogate (d)  Local
(8) Point of Purchase adv ertising helps in stimulating - purchase.
(a) - lmpulse {b)  Planned
(¢) Budgeted (d)  Online
(9) "Swacch Bharat’ campai goBanexampleof advertising .
(a) Political /(bj/ Pro-Bono
(¢) Institutional (d) Trade
(10) _refers Lo incremental value of the brand
(a) Brand Image (b)  Brand Loyalty
_{e)” Brand Equity (d)  Brand Personality
ay-—_ advertising helped Maggi to regain its market sharc after

the crisis.
(a) Green (b}  Advocacy

(¢) Political /{(14— Product

TURN OVER
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2 - ' QP Code: 22287
__advertising is growing at a faster rate

(12) Advertising spendson
as compared to others,
(a) Print (b)  Digital
(¢) Cinema (d)  Radio
(b) State whether the following st‘arc?l'ncnts are true or false (Any ten) :—

(1) IMC is same as promotion mix . -

(2) Sign Boards are the oldest form of Advertising .

(3) Radio is no longer a useful medjum for advertising. |

(4) Client Turnover is a negative sign of growth for an advertising agency-—

(5) Commission is a traditiona) method of agency compensation |

(6) Account Executives handle finances of an advertising agency.
(7) lio has used an effeetive Integrated Marketing Strategy to fight

competition

(8) Advertisements having dircet comparison with a competitors products are

unecthical, ;
(9) Advertising always has a positive impact on the society.

(10) Decoding uses signs & symbols to communicate the advertising message .
(&) The Jan Dhan Yojana of the prime minister has used Doordarshan

channel for effective promotion in regional areas .
(12) Social media has made advertising execution interactive,

ol

Answer any two of the following :—

(a) Explain the meaning of Integrateg Marketing Communication (TMC). What ig

- the role of advertising within [MC 9
(b) Define advertising. Who are the actjve participants of advertising ?
(¢} Explain the classification of advertising on the basis of functions.

3. Answer any two of the following :—

(@) What are the factors considered while selecting an advertising agency ?
() How can an advertisin £ agency maintain a healthy relationship with its clients 2

(&) What are the unique skills required for a carcer in advertising ?

4. Answer any two of the folloiving — :
Aa) How does advertising atfect market competition ?
Ab) Discuss the common ethica! issues in advertising,
(¢) Describe how ASCI self-regulates advertising in India.

L]

Answer any two of the following :—-

(a) With the help ofa diagram explain the advertisin g communication process.

(b) Explain the features of corporate image advertisin g.
(¢) Describe different execution stvics of advertisements.

211DBCB2433C2AE35F31F2A AFO9EF42E

10

15

15

IS

15




CO143FR /C014303 / ADVERTISING I
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6. Write short notes on any four of the following :— 20
(a) Any five benefits of advertising
(by Creative Pitch
_e) Pro bono advertising
(d) AIDA
(e) Effect of advertising on cultural values
) Brand equity.
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[Time: 3 Hours)

L. All questions are compulsory. T T :
2. All questions carry equal marks. VaE sl
3. Use of simple calculator is allowed. N Al

4. Draw neat diagrams wherever necessary,

Explain the following concepts {Any FIVE)
i. Gross Domestic Froduct
iii. Aggregate Demand Function

: .P.ospenty A
iv. N'argmaﬂ Efﬂciéncy of Captfal' :

v. IS curve Vi F'hllhps Cusve

vii. Income Velocity viii. Inflation target_ing

Choose the right answer from the givenroptions and rewrite the statements s 10
- isa Ieakage frorn crrcu[ar flow of aggregate mcorne ‘and expenaitu;e

a. Exports OB BICEE : E £ ) a T

c. investments (e R A g Publlc expendrture

Green Gross Domestic prcduct isan mdex of :

a. Loss of biodiversity b. Cost of climate change

¢. Environmental costs of econamlc activities d. all.the above
Says’ Law of market states that: @
a. Demand creates its own’ supply
c. Demandis greater than supply

b. 'Sl".u"pply'é’“reaté“s"‘it's"o'Wn demand
d. Supplyis greater than demand

When Income equals consumpt:ou savings will be ---—--- Srrme et
a. Positive .. SRSt e N U ] Negatwe 8
€ Zerg o A R -~ d. infinity -
After reaching full emp!oyment the aggregate SUPPLY CurVe bacomes--———----—-
a. HoriZontal Straight Line ' b. Vertical straight line
c. Upward sloping i d. Downward sloping
The LM curve mdrcatES ----- - : equilibrium
* @~ Money market - % ~ c.Goods market
_c. Foreignmarket -~ - 2 5O d. Labour market
Supply side economics aims at mcreasmg government revenue by-------—---cceo-- ]
'é. Reducing taxEs A S b Increasing taxes
“Reducing prices d. Increasing prices.
'Durfng intlation, gain
a. Debters ' b. Creditors
c. Fixed income earners j d. Poor
Cost push inflation is also known as :
a. Wage push inflation b. Spiral inflation
¢.  Supply side inflation d. All the above
During infiation, RBI Bank Rate and Cash Reserve Ratio.
a. Increases b. Reduces
¢. Doer nct change d. None of the Above

[ TURN OVER
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Q.2. Answer any two of the following: DU S S
a. Explain with the help of flowchart, the circular fiow of aggregate income: and e)cpendlture
ina closed economy. :
b. Define trade cycles and explain its phases with a help of a dlagrarn
¢. Examine the features and criticisms of Says law of market

Q.3. Answer any two of the following: SN S S ae Jor
a. ‘The Starting point of Keynes’ theory of employment |s the Prmcrplen ’ffectn(e Demand'- :
— Explain. N Y :
b. Define consumption function and explain the sub;ective and objectlve factors affectlng
consumption.
c. Given investment to be Rs. 100 crores and MPC 0. 5 explaun the workmg of mvestment
multiplier, : : % -V

Q.4. Answer any two of the following: : : : i T 20

a. How do you derive LM curve? Explam tha. |mpact ofsh:ft inLM curve
b. Write a note on Stagflation. - 2o oS il - -
¢. Explain the basic preposatlons of supply srde economlcs

Q.5. Answer any two of the followmg A : " 20
a. Explain the determinants of money. supply TRk '_ S
b. Describe Fisher's equation of exchange. - Vgl s :
c. Explain with the he!p of suatabje dlagram the demand pull and ccst push inflation.

)3
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Q.P. Code :20745
[Time: Three Hours] [ Ivlarl{s:lﬂﬂ]
Please check whether vou have got the right question paper.
N.B: 1. All questions are compulsory subject to internal choice.

2. All questions carry equal marks.
3. Figures to the right indicate maximum marks.

Q.1 Answerany Two of the following:-

a) Explain the essentials of a valid contract. 19
b) Discuss the meaning of ‘Offer’ in a contract and the legal rules regarding offer. 10
¢) Who is competent to rontract? Explain the effects of a Minor's agreement. 10
d) Discuss the essentiais of ‘consideration’ in a contract. 10

Q.2 Answer any Two of the following:-
a) Explain the meaning of ‘Free Consent' in a contract. Distinguish between agreements 10
entered into by ‘Fraud’ and agreements entered into by ‘Misrepresentation’.
b) Whatis a void agreement? Explain the agreements deczlared void under the Indian 10
Contract Act.
c) Discuss the ‘Quasi Contracts’ given under the Indian Contract Act.
d) Explain the methods of discharge of a contract by operation of law.

-~

.3 Answer any Two of the following:-

a) Distinguish between the Contract of [Indemnity and the Contract of Guarantee. 10
b} Explain the Rights of a Bailor in a contract of Bailment. 10
¢) Distinguish between contracts of Pledge and Lien. 10
d) Discuss the duties of ani Agent under the Indian Contract Act. 10

Q.4 Answerany Two of the following:-

a) Explain the essentials of a Contract of Sale and state the classification of goods. 10
) Explain the meaning of ‘Conditions’ and the ‘Implied Conditions’ under the Sale of 10
Goods Act.
¢) Discuss the rules relating to transfers of property in the case of sale of specific goods
and the sale of unascertained goods. 10
d) Explain the concept of ‘Unpaid Seller’ and the unpaid seller’s right of, ‘Stoppage of
goods in Transit’ and ‘Right of Resale.’ . 10
Q.5 Answer any Two of the following:-
‘clj/Explain the essentials of a Negotiable Instrument. 10
‘), Distinguish between a Cheque and a Bill of exchange. 10
¢} Explain the characteristics of a Cheque. Discuss the types of crossing of cheques. 10
d) Explain the meaning of Payment 1n Due Course, Noting and Protest under the 10

Negotiable Instruments Act.
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CO143FR /C014302 COMMERCE I1I
Q. P. Code: 23778

Time: 3 Hours Marks: 100
Please check whether you have got the nght questlon paper.
N.B.: 1,All questions are compulsory. A5 B
2. Figures to the right indicate maximum marks,

Q1. Objective Questions:

A) Choose the correct answer from the optlons glven below {any ten): (10 IVIarks)
1. Henri Fayol stated ______ principles of management

(Ten, Twelve, Fourteen) '

2. Ethos is originally a

(Roman, Greek, Indian)

word th'at{sigri/i%fies character.

3 skills are also known as interpersonal skills.
(Technical, Human Relations , None of these)

4, is a long-term actson p1an for achlevmg the goals.
(Strategy, Procedl)re F’rogram) :

5. Planning needs to be
(complicated, flexible , rigid)

6. Heuristic technique isa - ' 't'echnique.
(rule of thumb , blind , trial and error)

7. Formal organlsatton structureis in nature.
(0ff|c13I un-official , un structured) _

8. Delegatfon of authority TS -"-":_;:*-‘zthe burden on superior.

(m_al-n-tams , reduces , increases)
9. De'-—i:-‘e_ntralizatior_l is-necessary for effettive management of a
Bu"siriess organisation. (small, medium, large)
10. | uses network analysis by identifying critical and non-critical activities.
(PERT CPM , Budgetary Control)
i :1“1 Norse and distance are barriers to effective communication.
(physical , cultural, psychological)
12._  isafunction of leadership.
(Directing , Confidence , Vision)
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CO143FR /C014302 COMMERCE Il
Q. P. Code: 23778

B) State whether the following statements are True or False (any ten): (10 Marks)
1. Staffing involves selection of right person for the right job.
2. Division of work leads to specialization.
3. Controlling is a measuring and correcting de'v'ic‘é
4. Only external environmental factors are analyzed in the planning process.
5.-In Management By Exception, the managers get involved in day to day aCthltIeS 2
of the employees.
6. Use of technology leads to quick decision-making.
7 Matrix Structure is a combination of project and functional organisation.
8. Tall Organisation Structure has very few levels of hierarchy.
9. Successful Functional Departmentation requires-good co- -ordination.
10. Leadership is a personal quality.
11. Budgetary Control technique is quaiitétive in nature.
12. Cultural diversity causes communication .probl:e-m.

Q2. Answer any two of the following: _ (15 Marks)

a) Define Management. Explain the nature of manhagement.

b) Explain the F.W.Taylor’s Theory of Scientific Management.

c) Explainthe dimensions of management stated by Peter Drucker in Modern Approach.
Q 3. Answer ahy two of the following: . (15 Marks)

a) Define Planning and state its importance.
b) Explain briefly the steps involved in the MBO process
c) What are the essentials of sound Decision Making?

Q4. Answer any two of the fol]ow.ing: (15 Marks)
a) Explain the features of Line and Staff Organisation Structure.
b) Discuss Tall and Flat Organisation in detail.

c) What is Delegation of Authority? Describe the process of Delegation of Authority.

Page 2 of 6
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CO143FR/C014302 COMMERCE HII f

Q. P. Code: 23778

Q.5 Answer any two of the following: _ (1:5 Ma_rks) :
(a) What is Motivation? State its importance.

(b) Explain the different Styles of Leadership.

(c) What are the essentials of a good Control Syst n

Q6. Answer any four Short Notes: S (20 Marks)
i) Indian Ethos in Management i)} Management Information System
iii) Virtual Organisation iv) Departmentation ;
v) Management Audit s vi) Financial factors influencing Motivation

ook sk sk ok sk ok ok o sk ok koK ok o ok
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C0143 / M0296 FOUNDATION COURSE III
Q.P. Code: 22449

(2 % hours) Total marks: 75

N. B. (1) All questions are compulsory
(2) Figures to the right indicate full marks.

1. A. Explain the following concepts: (any five) e > (15) :

Scheduled tribes

Polttical rights

Recovery after Disaster
Avalanches

Scientific temper
Hippocratic oath
Non-Verbal Communication
Reflective listening

I

OR

B Write a detailed note on the Foundation Course (Semester III) project submitted by you.
2). A *%men"bdong to the vulnerable category in India’. Comment, (15)
=8 OR _
B Examine the«ConstItutlonal and Legal rights of children in India.

3‘1’ f\ Examine the Impact of flsods on human life. Suggest some measures for protection. (15)

: AR ' OR

: B Dcﬁne Dlsaster Mmgatlon Expiam the different objectives of Disaster Mitigation.

4) A Wrrte a note on scientific development in the Age of Reason and Enlightenment. (15)
OR

7
_B. Bring out the differences between science and technology.

(4

' 5.A. Comment on the barriers to effective communication. How can one overcorme

-thé‘se_ barﬁers? (15)

ACBB71DFC401DFB6ACAEB349A03AB210



C0143/M0296 FOUNDATION COURSE III
Q.P. Code: 22449

OR
B. Explain Statement of Purpose (SOP). Discuss the ways and approaches to write an SOP.
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I : (%) FE v 3FER 3. THT AT 64

YRS 37) Wl HefoUell U5 T, ( HIUTAEy qr ) et v )

A AT
ST g

- gﬂT{UTT
e R S S S
AT TRENhIA (Fer) |
€. Roaimére oy
Frnfeeer Fomae
. .F!..i;aﬁla.l'rﬁ:$ HauoT

oK W o e

SRS ) TR 3T 7 (@-3) TS g TTEY oo Tehouras
S omew e Rm
o ??3{)_ “SriaTe e EE'W qaIfi AT, ST F, (%9 )
URE R ) AR STHTdT GedlcHe HITOT urfae g q9ieor ar
SR 3 31) Alefel Sfaetay qRRUIT TROTARY T80T F31. AT waTr

__:{:j muamaamﬁr 39T gal. (%9)

ACBB71DFC401DFB6ACAEB349A03AB210



"7/4 T S
. Q.P. Code:22501 X

[Time: 3 Hours] g : [ Marks: 1'(50]
N.B: All question are compulory.
Figures to right indicates full marks.
Working should form part of the answer
Simple calculator is allowed. :

9 )

Q.1 A) Select the most appropriate answer [Any ten]. : 10

" (1) The basic function of management accounting is
a) To serve Goverment
b) To serve the management in performing if function cffectlvely
c) To serve the public --

(2) In the vertical Balance Sheet, Bank Oy%tdﬁ is considerd as
a) Current Asset : TRt
b) Quick Current Liability

c) Fixed Asset

(3) expresses all items of a financial statemcnt asa pcrccntage of some measure of
the company.

a) Commonsize statement

b) Comparative statement

c) Trend statement

(4) Satisfactory level of Current Ratio is
a) 1:1

b) 3:1

c) 2:1:

(5)___ ~ shows how manytimes per period the company pays its average payable amount.
a) Creditors Turnover Ratio

b) Debtors Turnover Ratio

c) Stock Turnover Ratio

(6) 1f cash flows are not uniform , the calculation of payback period takes a

a) Common profit

b) Favourable position

¢) Cumulative form

(7) The current worth of a sum of money to be received at a future date is called
a) Future value

b) Present value
c) Salvage value

Page 1 of 7
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Q.P. Code :22501

(8) Total cash outflow is ¥ 85,000 and present value of total cash inflow is € 75.000.The

Net Present value is.
a) & 10,000
b) & (-)10,000
) & 2,000

(9) Using Profitability Index, the preference rule for selection of the machine is

a) The lower Profitability Index
b) The higher Profitability Index
c) Bothaandb

(10) Operating cycle referes to the time required to convert the _to be converted into
products and the time it takes for those products to be sold and lurncd back mto cash.

a) Cash

b) Assets

c¢) Liabilities

11) Inventory is & 20, 000 and averagastock held is F4,000. The stock holdmg period for
360 days in a year is :

a) 72 days

b) 180 days

c) 5days

(12) provides information about financial position of the company.
a) Revenue Statement

b) Cashflow Statement

c) Baldnce Sheet

Q.1 B) State whethef“’thc folowing'étatem'énts.aré-Ti-ﬂe':Br False. (Any ten) 10

1) Financial statements of a company prepared at the end of the financial year provide
information only to the owners of the business.
2) Combined ratios show the relationship between two figures which are taken from the
_ Balance Sheet only.
- .°3) Depreciation is a cash business expenditure.
4) Working capital means Net Current Assets.
5) Capital Budgeting decisions are long term investment decisions.
6) Trend Analysis shows the trend in the performance and position of an organisation.
7) When the comparison of financial data is over a number of accounting years relating to
one company only it is called as inter company analysis.
8) In preparing the estimate of Working Capital, Debtors cannot be valued at cost.
9) Permanant Working Capital remains constant .
10) Net Profit Ratio is a measure of profitability.
Payback Method is a modern technique of Capital Budgeting,
12) Public Deposits accepted by a company are a part of Shareholders Fund.

Page 2 0f7
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Q:P. Code :22501

Q.2 A) From the following details of A Ltd. prepare a Common Size Income Sfatement in vertical form 08

suitable for analysis.

M/s A Ltd.
Revenue Statement for the year ending 31st March, 2017

Particulars (3).-
Net Sales ?
Less : Cost of Sales ?
Gross Profit (25% on Sales ) 4,00,000
Less : Operating Expenses ?
Operating Profit ?
Add : Non Operating Income - 10,000
Less : Non Operating Expenses 40,000
Net Profit Before Tax . 80,000
Less : Tax(50%) on Profit
Before Tax ?

?

Net Prbfit-After Tax

Q-2.B) From the following prepare a Comparative Balance Sheet of B Ltd. ina vertical form

Q.2

suitable for analysis.

.- Balance Sheets -~ -

Assets

You are required to prepare Trend Income Statement in vertical form suitable for analysis.

Liabilities 31/3/17 31/‘3/16 31/3/17 | 31/3/16
(%) () ; (%) (3)
Share Capital 1,43,500 1,20,000 | Fixed Assets 1,05,000 88,500
Bank Loan 28,000 21,000 | Investment 24,000 18,000
Current Liabilities 76,000 69,000 | Current Assets 1,18,500 | 1,03,500
"2,47,500 | 2,10,000 2,47,500 | 2,10,000
OR

M/s C Ltd.
Balanices for the year ending on 315t March of each year
(%) (?) (%)
31/3/15 | 31/3/16 | 31/3/17
| Net Sales 60,000 80,000 1,00,000
Opening Stock 6,000 10,000 14,000
Purchases 34,000 38,000 40,000
Wages 3,000 6,000 4,000
Carriage Inward 4,000 8,000 8,000
‘| Closing Stock ? ? 12,000
Office Expenses 2,000 2,400 3,000
Page3of 7
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Q.3

2,000 |

- 2,000

Administrative Expenses 2,000

Selling Expenses 1,400 1,800 | 2,000
Distribution Expenses 1,000 800 1,200
Finance Expenses 1,200 800 2,000
Interest received 3,000 4,000 6,000
Loss on sale of Investment 1,000 600 1,000

Make provision for Income Tax at the rate of 40% on Net Profit Before Tax of each year.

Other details of the company for the year 2016 17:

M/s C Ltd.
Balance Sheet as on 315t March, 2017
Liabilities Amount Assets Amount
3 0 g (3)

Equity Share Capital 3,30,000 | Debtors 68,000
5% Preference Share - SRR Bills Recewab!es © 12,000
Capital 1,00,000 | Cash & Bank Balance 32,000
Reserves 68,000 | Stock 38,000
Profit & Loss Account 32,000 | Other Current Assets 68,000
Creditors 48,000 | Preliminary Expenses 12,000
5% Debentures 1,10,000 | Fixed Assets 5,47,000
Provision for Income Tax 20,000 | Prepaid Expenses 5,000
(current year) T
Bills Payable . 32,000
Bank Overdraft 22,000
Proposed Dividend 20,000 |

: 7, 82 000 7,82,000

1) Sales ¥8,00,000 [80% on credit)
2) Credit Purthases T4, 00 000

3] Net Proflt Before Tax 5." 60, 000

4y Dlwdend on Eqmty Shares ? 15 000

; Calculate:-

1) Liquid Ratio

- 2} Creditors Turnover Ratio -
- 3) Stock Working Capital Ratio

- 4). Debtors Turnover Ratio
55) - Capltal Gearing Ratio
~6) Dividend Payout Ratio

R A Re\turn on Capital Employed

\.-- e

OR

Page 4 of 7
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Q.P. Code :22501

Q.3 From the following details calculate: _ Rat 15
- 1) Gross Profit Ratio
2) Office & Administrative Expense Ratio
3) Selling & Distribution Expense Ratio
4) Operating Expense Ratio
5) Operating Ratio
6) Net Profit Before Tax Ratio
7) Stock Turnover Ratio

M/sD Ltd. . &
Trading and Profit & Loss Account for I:he year endmg on 31st March 2017
Dr. : : RIS & ol
Particulars (T) < it Particulars S & 5 I
To Opening Stock 1,30,000 | By Sales - | 65,00,000
To Purchases 55,70,000 | By Closing Stock -~ 1 2,55,000
To Direct Expenses 1,70,000 | By Interest AN S 15,000
To Salaries =+ 1,78,000 3 '
To Office Expenses - 1,38,000
To Selling Expenses ¢ s 118,000 - 3
To Distribution Expenses 98,0001 2
To Interest 48,000
To Provision for Inconie. Tax + 95,000
To Net Profit N el :;‘ - 2,25,000 | ¢ :
: 6'7,70,000%?‘- o =3 67,70,000
Q4 F Ltd. is considering the purchase of amachine. Twamodels Model A and Model B are is

available each costing 1 ,50,000.
Cash Inflows are expected as follows:

Year Model A(?) | Model B (3)
1 : 45,0004 © © 15,000
2 60,000 45,000
3 75,000 | - 60,000
4 45,000 | 90,000
5. 60,000 60,000
16 40,000 50,000
7 30,000 30,000

Wlth the dlscountfactorof 12%, the Present Value of ¥ 1 is as follows:

Year 58 2 3 4 5 6 7
- | Present Value [0.893 [0.797 [0.712 [0.636 |0.567 |0.507 | 0.452

Indicate the selection of the machine by applying
1) Payback Period

2). Net Present Value at 12% discount factor

3) Profitability Index.
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Q.. Code 22501

OR

Q.4 M/s G Ltd. has two different alternatives to buy - Machine X and Machine Y. 15
' The expected Earnings Before Tax of the two machines are as follows: '

Year Machine X (%) T Machine Y (¥)

1 4,00,000 3 4,35,000
2 5,00,000 " 4,90,000
3 6,00,000 5 - 5,80,000
4 5,50,000 6,80,000
5 4,50,000 7,00,000
6 4,20,000 6,80,000
7 ~3,00,000- 500,000

Income Tax rate is to be considered é_t 20% on Earning Before Tax.
Initial Investment of Machine X is ¥ 1,45,000 and of Machine Y is & 1,55,000.

The scrap value of Machine X and Machine Y is ¥ 5,000 and ¥ 15,000 respectively.
Calculate Accounting Rate of Return on the basis of Average Investment.

Q.5 M/s H Ltd. gives the following details to prepare the statement of Working Capital 15
requirement for the year 2016-17. : S

Proj ected'Revenue Statement for the year 2016-17

_ : (2) (%)
| Sales : - __ 18,00,000
Less: R &
Burchases: o ¥ 37 s 200 =0 7| 8,00,000
Wages? -7 50 ol 8 2,00,000
Overheads ‘ 1,50,000 | 11,50,000
e SN E 6,50,000
Less: Expenses
Office and Admlmstratlve Expenses 1,80,000
Selling and Distribution Expenses 1,20,000 | 3,00,000
3,50,000

5 Durmg the\year 2016-17 it is estimated that
- - 1) "Raw materials will be i in store for 30 days.

2) Finished goods will be in stock after production for 45 days .

3) The processing’ period wﬂl be 20 days.
4) 70% of purchases and sales will be on credit of 20 days and balance on cash,
) Wages and Overheads will be paid at the time lag of 10 days.
6j Office and Administrative Expenses will be paid at the time lag of 20 days.
7) The expected Cash and Bank Balance will be ¥ 78,000.

: 8) ‘Operations are evenly spread and expenses accrue evenly .
“ . -~9) Debtorsare estimated at selling price.
10] Company works for 300 days during the year.
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OR 2
Q.5. M/s T Ltd. plans to produce 19,000 units durmg the year 2016 17 and te : 'ell them for 15

< 150 per unit. i oy Al SR
Cost structure of the product is

Raw Materials 60%

Labour 15%

Overheads 10%

85%
Profit - 15%
Selling Price = 100%

Further details are available for the year 2016-17 :
1) Raw materials equivalent to 1 month’s supply is stored in the godown
2) Production process takes 1 month.
3) Finished goods equal to 3:month'’s productzcm are camed in stock. _
4) Customers get credit of2 mdnths_ and:-suppliers allow creditof 1:24 months.
5) Time lag in payment of wages and overheads is % month .
6) 20% of sales are made on cash basis and balance on credit.
7) Cash and Bank balance will be maintained at 10, 000.
8) Operations are evenly spread throughout the year. Expenses accrue similarly.
9) Debtors are estimated at Selling Price .
Prepare the statement of Workmg Camtal Requxremen. for the vear 2016-17.

T

Q.6 A) Explain the meanmg and functlons ofManagement Accountmg 10
B) Explain the techniques o Caplta] Budgeting. 10

: OR
Q.6 Write short notes (Any. Four] . ' 20

1) Tools of analysis of financial statements :
2) Reveriue Statement Ratios : '
3). Operating Cycle -
4) Limitations of Ratio Ana]yms

~5) ‘Estimation of Working Capital requirement
6) Scope of Management Accounting

ek Rkt sk ok ok sk ok sk ok ok ek ok Fokek ok kok ok

Page 7 of 7

870961BE3051F1446071C8BA1EA24753



[Three Hours]

N.B.: 1. All questions are compulsory.
2. Figures to the right indicate full marks.

1. A)Fill in the blanks with correct optlons (Answer any 1[]) S8

I. is one of the micro environment factar. /\
a) Customer b). Economxc Envrronmcnt
¢) Political Environment. d) Intcmat;ona:l Enwmnment

2. marketing environment i 1Isa combm&tm
environmental factors of many countries.
a) Economic

& by In nafiena

¢) Political - d)None of these o0 2
3. is the process of satisfying the needs and wants of ’fhe customers
a) Sales b) Purchase :
¢) Marketing s d) All of these 9
4. SWOT involves analysis of F environment.
a) Internal b) External
¢) Both~ d) None of these :
5y is the plan of action designed to achieve the overall marketing objectives of the
organization. =
2) Planning : b) Research
¢) Marketing Strategy - d) None ofthebe
6. factors is termed as controllable factors. e
a) External : e b) Internal .
¢) Both g S e Al d) Al of these
7. is the Iast step in new__product development process,
a) Idea generation =gy ] - b) Product. davelc)pment
€) Reyiew™ " = & o0 - ~ d) Marketing Strategy
8. : isthe second staec of PLC.
a) Inti‘bducfion \ b) Growth
c} M'at'urity' LA _ d) Decline
9. o «isthe start:ug pomt of all marketing activities.
a) Customer < s : b) Price
R _Dlgtﬂblzh@ﬂ PRGN d) Promotion
“w10: SN one ofthe internal factors affecting pricing of the product.
: a) Cost ' b) Competition
¢)- Consumer : d) Intermediaries.
e e techmque of pricing is one of the pricing methods.
- ) Skimming ke b) Penetration
- ¢) Deferential = - d) Value
AR ~_is.an important variable of the marketing mix.
‘a) Customer b) Competitor
c) Price ; d) All the above

~
St
o
N

B) State whether the following statements are Truz or False: (Answer any 10)
L. Employee isone of the Micro er. vironment factors.

2. Cultural and social environment are separate from each other.
3. “Bottom of the Pyramid” concept was developed by Philip Kotler.
4. ’\farhetm  Strategy is an action plan to achieve short-term objective only.



Q.P.Code: 26034 -

4

5. Michael Porter suggested four forces to be observed for industry aftractiveniess.
6. Updated technology is one of the weakness factor under SWOT -analysis

7. Product positioning is to handle competitive pressures. el
8. During introductory stage of PLC, the producer use heavy advertising <
9. Product positioning depends on the high price & qua!itxféﬂ@@:p\i'gd;q,(it 5
10. Survival is the one of the key objective while fixing theprice-of product:
I'1. Estimating cost is the first steps in pricing. 3
12. Target return pricing is mostly used by monopolist in the market

Q2. A. Define Marketing Management? Explain its ﬁmc’t;pn L LE I ES (08) : -
B. Discuss any three macro environmental factors ‘with specific refererice to India.. (07)- -
Q2. C. Explain the emerging marketing opportunities in India, S : (08) -
D. Discuss the features of international marketing environment.© . - . (0?)
Q3. What is the Marketing strategy? Describe the various features involved init. (15) _ .
OR
Q3. A. Write a note on Michael Porter’s five competitive forces. : (08)
B. Describe various steps involved in strategic marketing planning process. (07)
Q4. A. Discuss the various levels of product. S . (08)
B. Explain the characteristics in different product life cycle stages. v (07)
Q4. Define product positid‘r_:ing-?_-Exp_Iain.thc'irﬁponancé of Product positioning. (15)
Q5. A. Elaborate the_"st'eps iﬁ prtcmg of a product. (08)
B. Explain the various objectives of pricing. (07)
: _ - = OR
Q5. Explain in details various methods of pricing - (15)
Q6. A. Mzi'rketing ma_nagém'snl is imp‘ortant in creating superior customer value. Comment .
B B G Se ' - (10)
B. Describe the steps. involved in new product development. (10)
T "~ OR
Q6. Write short notes. (Answer any.4) 3 (20)

SWOT Analysis.

. Micro Environment.
Industrial goods:
Analyzing Competitions.

Features of marketing.

External factors affecting pricing decisions.

Fie

O
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A CO143FR / C014305 / COMPANY SECRETARIAL PRACTICE I

[Time : 3 Hours] [Tetalmarks%IO{) e

N.B: (1) All questions are compulsory.
(2) Figures to the right indicate full marks.

1. (A) Fillin the blanks with appropriate word given m the bracket (any IO)

(i) A Company incorporated outside Indla is caHed c”ompanyp
(a) Foreign R e e
(b) Holding
(c) Subsidiary
(d) Unlimited

(i) A Company Secretary may be_‘
(a) Board of Dlrectors )
(b) General Meeting

. (c) Statatory Meetlng M SRR
& (d) Commitee oforecters CA R S F T S8 :
(i) of ﬂleccfmpany specff'es the ngh s of a company secretary
(a) Circular; . S

(b) Prospecms 3

'e‘-agreement
(d) alb of ﬂzes‘e@ 3 o 2

(iv) Company Sex ecretary in practlce'plgowdes serwces in
(a) Correspondence NS S
(b)” Writingaceounts" ~ o 7 S S
()~ Concdlatlﬁn&a*\rbxtratlon FeeS
(d)- Mmutes Wntmg

" on directors.

-—a*—

(v) Secretana] advnce hnd guldance 13
' (a) Bmduig g

(w) Secrefanal audlt 1s conducted by
(a) Company | secretary
(b] Companyseeretaly in practice
(¢) Government auditor
(d) Companys audltor

(v n) Capxtal Subscrlptlon Stage is the most important stage in the formation
of company.
(a) Private
(b) Public
(c) both
(d) none of these

[TURN OVER

211DBCB2433C2AE35F3 IF2AAFOAEB430:



-C0143FR / C014305 / COMPANY SECRETARIAL PRACTICE I

‘ 2 QP Code : 23865
(viii) Reconversion of companies is : SR S
(a) Very common el e
(b) rare : S
(d) frequent ot S R

(ix) Secretarial correspondence with debenture holders 1s
(a) often e
(b) limited

(c) not required
(d) none of these

(x) Secretarial correspondence related tn tssue of be‘nus shares 1‘§ w1th SRR ,

(a) Board of directors- - -
(b) Debenture holders-
(c) Share holders: - .. TS
(d) ROC ' ' : :
(xi) Technology is T

@ CeflS ol
(b) useleés of  EE d g
(c) not: necessetry N P “,_
(d) unsafe e

_.‘_(c) 1ncomp1ete 52
(d) all of these

_':'(lv) Gompany secretary acts as advisor to the Chairman.

(v) Accoufitmg standards -are prepared for standardization of secretarial
practlces

' {-"Iﬁ(w) becretarlai audlt; promotes company image.
< (vii) Every alteratl(m ‘of Articles shall be filled with the Registrar within 2

. period of 15 days.
(viii) Drafting and Printing of Memorandum and Articles of Association is
done at Capital Subscription Stage.
(ix) Conversion of a company for second time is called dematerialisation.
(x) -Secretarial correspondence with Company Law Board is limited.

_ '-(xi) Technology has made the job of company secretary slow and tedious.
~ “(xit) Letter for listing of Shares is sent to Stock Exchange.

[TURN OVER
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CO143FR / C014305 / COMPANY SECRETARIAL PRACTICET

2. Answer any two from the following :—
(a) Explain the features of a company. ¢
(b) Explain the appointment procedure of a company secretaryy
(c) Explain the career options of company secretary

3. Answer any two from the following :— &
(a) Elaborate the role of company secretary as anI

and Stock Exchange. < T

(b) Explain the Secretarial Standards issied by I¢

(c) Discuss the scope of Secretarial A.E_ld_}.t:

4. Answer any two from the following :— = - -
(a) Define Memorandum of Association. Wh_ at are 1'_ __
(b) Enumerate the stages in fOITIIatl("ﬂ of A pubhc compan.
(c) What is the secretarial procedure mn convers

' Company

15

(a) Explain the secfetanalﬁo‘l'fGSpoudence wnth- Re g1strar of Compamcs
(b) Explam the role of technology in secretan al coneSp,ondence

6. Write short notes on_-(any fout TS 20
(a) Remgn\ on_‘and\ﬁemovai.o;._
(b) Ll:—fbﬂ ities: oft?bm?any S%Eagy
(c) Importance of Secretarlal Audlt
(d)¥ Conter
(e) AmcleSGfAssocxa‘ti 'n‘ el F s

’(t) \Gorrt*,spondemc of C\ompany Secr&tary wnth Company Law Board.
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